N of associated (recoToSim) looper tracks vs normalized X

tracks vs normalized x? |

recoToSim)

[{

[N o associated

rack vs normalized x2 |

t

0

[N of reci

track x?

berset

o
N
0
—
©
—
<
—
o
—
o
—
o
©
<t
~ 2
1
2 =] = 3 -
- (=] i -
syoel ayeoydnp syoex ayeaydnp diey
I o
N <
00 X
— O
s
© =
3= <
J —
E 3
= 2
- o
3 - ©
7 - s
1.5
1 & o
i S ]
5
I o
A
00 X
— O
IS
© =
—
<
—
o
i
o
—
&
©
x
<t O]
o
o wm
[P P W, e
N =) — cad {o]
=] — 5} mnm
maz syoel) aniy oney
F=>
foc
pe
8 cD|
Qo L
ol 1==
o LD
o S B
Sl
< >3
— DOOA
Ya'al
N
—
o
—
© L]
@
2
< S
g
~ =
¥ g
L [ o 2
< -
5 sk
syoel] Z| syoen




	Contents
	Page 1


